e gead —1
fava — A I (202)
Subject — Chemistry

Y — 3 °UC riE — 70
Time — 3 hours M.M. - 70

ffcer (1) 91 g e 2

Instructions : (1) All Questions are compulsory.

YR -

Ques. :

YR -

Ques. :
U3 :

Ques. :

YR -

Ques

YR :

Ques

YR :

(2) U . 1 ¥ 5 Th ANTAYSINIT U & | Uhb WR 1 3 If&fcd & | Ue Bl
IR 1 W AT 1 IR H IO |

(2) Question No. (1) to (5) are very short answer type questions. Each question
carries 1 mark. Answer should be given wordone or 1 sentence.

(3) W2 . 6 W 10 db UAP WX 2 3 afed 21 (I AT 30 )

(3) Question No. (6) to (10) carry 2 marks each. (word limit 30 words)

(4) U9 & 11 W 22 I TP Y WX 3 3fh IMEfcd & | (g AT 50 )
(4) Question No. (11) to (22) carry 3marks each. (word limit 50 words)
(5) U9 & 23 TR 4 3f® AECT 2| (IE AT 70 IR)

(5) Question No. 23 carries 4 marks. (word limit 70 words)

(6) UTH P 24 W 26 TH YD YT WX 5 3fh IMdfcd & | (g HHT 100 I1<3)
(6) Question No. 24 to 26 carry 5 marks each. (word limit 100 words)

(1) ST @ 1T Bl T3 0SB Al fhd THR B HIATsS ¢ | (1)
(1) Egg white beaten with water forms which type of collide?
(2) TR §SiF &I GEAT Iy | (1)

(2) Drow the structure of ethoxy benzene
(3) SEFART HIIH & 3T & AT AFH § < TR T Y9G gsar & © (1)

(3) How will it effect our eyes when it comes in direct contact with
dichloromethane

(4) X&T B IPhed B folv HiF AT faer™= STRer & ? (1)

: (4) Which vitamin is responsible for the congulation of blood ?

(5) Rrifeserss &1 IUPAC s fofRau | (1)

: (5) Write IUPAC name of Cinnemaldehyde

(6) Fr=IfeTRad b1 Fcll &iaeT & 8 o forfay | )



Ques. :

Ques. :

Ques. :

Ques. :

Ques. :

Ques. :

Ques. :

C,HsNH, , (C.Hs);:N , CsHsNH, , (C,Hs),NH

(6) Arrange the following on increasing order of basicity

C,HsNH, , (C.Hs);N , CeHsNH, , (C.Hs),NH

(7) o1 BRI 2 dIHA 4 ghg ¥ A9 g9 § B [Jo B 2 2)

(7) What is the reason that gases are less soluble in liquid when temperature is

raised ?

(6) T & <Y St e & A @ g Fora | o)
(8) Write the names and formulas of two oxy acids of chlorene

(9) TH fgdia Icl @ AMTHAT & oI AMHRS & Al G B o1 W
AfAfhar &1 I fre geR g g | )

(9) What is the effective on the rate of reaction when the concentration of the

reactants is double for a second order of reaction.

(10) Uil oM TfFele & &9 Rl 81 § af ? (2)
(10) Why Anilinium ion is less stable than Aniline ?

(11) (i) ¥ (Fwel) ushd gRT HySO4 @1 &1 4 gfg o)1 & oy smaead
uRRerfrat a1 forfav | ()
(i1) H,SO4& &1 SuaiT ferRey |

(11) (1) Write the conditions is required to increase the mass of H,SO,4 by the
contact process

(ii) Write any two uses of H,SOy4

(12) wfera fewofy forRay — (3)

(i) 15 7 998 & TIRSES B WG

(ii) TR & 3UIHY

(12) Write short notes

(i) stability of hydrides of 15™ group
(i1) Allotropes of sulpher

(13) D-Glucose & pentaacetate % a0 UfcSelss HE @I SIURATT &I by
FASM ? (3)



Ques. :

Ques. :

Ques. :

Ques. :

Ques. :

Ques. :

(13) How do you explain the absence of aldehyde group in the pent a acetate of
D-Glucose

(14) %=1 gDl & YebeTdl B M 3R AT forRey | (3)

(i) STt 66

(ii) S

(14) Write the names and structure of the monomers of the following polymins
(i) Nylon — 66
(ii) Dacron

(15) AT SMIHTST B & fdhral I BRI B IaTevl Aled qHsISU | (3)

(15) Explain any three types of synthetic detergents with example

(16) gFITH® AT FAS fdderd aTet faerasl § Pis b iR foRau | (3)

(16) Write any three differences between positive and negative deviation solution

(17) UfH & N & oy dggd SiueeHl ol &l AMifdbd = 991y | (3)
(17) Draw the labeled diagram of electrolytic cell for the extraction of aluminum
(18) 1 yarem # 318 K ©® N,Os & 3meged & [2N,05 — 4NO,+0,]
afifopa @ s o Ry v ¥ ()

t/s | 0 400 |800 |1200 |1600 |2000 |2400 |2800 |3200

102  x|1.63 [136 [1.14 093 [0.78 |064 |053 043 |0.35
[NZOS]
Mol L

() [N;Os] vd t & 79 v Sy |
(ii) arfwfomam & forq og SMyHIaT &I TOMT BT |
(ii1) efaferar & forg o e @ & 2

(18) The experimental data for decomposition of N,Os in gas phase at 318 K are
given below.

t/s 0 400 800 1200 1600 [2000 |[2400 [2800 | 3200
102 x|1.63 [1.36 1.14  10.93 0.78 0.64 0.53 0.43 0.35
[N2Os]
Mol L™




Ques. :

Ques. :

Ques. :

Ques. :

(i) Plot [N,Os] against t
(ii) Find the half life period for the reaction
(iii) What is the rate law ?
(19) ATgT &I Gererd fhan el 9999 & BRT Bl © 39 WR fewofl #ifsg | (3)

(19) Cleansing action of soap is due to micelle formations comment.

(0) fr=afeRaa SumswdIsll AT & IUPAC -4 ferRRag (3)
(i) [Co (NH;)s]Cl;

(ii) K,[PdCl,]

(iii) [Pt(NH3)(H,0)Cl,]

(20) Write the I[UPAC names of the following co-ordination compounds.

(i) [Co (NH;)s]Cl3

(ii) K,[PdCly]

(iii) [Pt(NH3)(H,0)Cl,]

(21) fr=faRad srfafdsamen & AHIHROT <dy FHSTSY — (3)
(i) wiea e ffafchar

(i) ToeHIR SrfAfha

(21) What Explain the following reaction’s by giving equation

(1) Fridel Craft reaction

(ii) Sandmeyer’s reaction

(22) o wretIe ARTS e 3G C4H 00 PCls & 3ifHfshar ax g A1l
(A) e g1 KCN ¥ a1 &R U&h 379 @retia At (B) 991 2 S e
e WA W Y Hee e (C) <ar 21 Sifwfsamsi § ugad M darel
T RIS FHIART Bl fIRay | (3)

(22) An organic compound whose molecular formula C,H;0O reacts with PCls

forms a compound (A) which also reacts with KCN to form another organic
compound (B) that given an organic acid (C) upon hydrolysis. Write all chemical

equation for the reaction involved.



g3 ;. (23) Te Rrae 9 fJenedfl & te fhvea fdar S99 fihved # S9@ @adl &ul
g9 & PV TR IR Holdl IR SURYT & I8 fhved o UBR Tdhd B

BITT | S Uchdh <pIRIbT H ol el URHATY] T | R1eTeh T H DI DI A el

T fAbRT BRAT aTE € | @)
Ques. : (23) A teacher gave a crystal to the students. In that crystal , its components are

present on the corners on the cube and on the faces , what type of unit cell will

this crystal be ? How many atoms will be in that unit cell ? What values does the

teacher want to develop in you ?

AT

Riere =1 il @1 ve fheea fdar S9 fheea & sragdl ool &1 8ai ==

g9 & DIV W TAT T JaIdl U s R RIT & I8 fheed (69 gdR o

Tdhdh PIFTHIS BT BT | S Ydbdh DIRIDBT § Gt b AT EF? R1etss sy

# D — D A gl & G A1 ar8an 2|

The teacher gave a crystal to the students The 8" part of the component of that
crystal is located at the corner of the cube and one component at the center of
which type of unit cell will this crystal be ? How many atoms will be in that unit

cell ? What values does the teacher want to develop in you ?
e . (24) S Tedfd At @1 gwigy Rorad = sifafear gt 8 — (1+2+14+1=5)
Cr=-0.74V, Cd =-0.40V
2Crt3Cd2i— 2Criry +3Cd

aq)
() ¥ BT By o0 AR —
(ii) THS Soldgls R B dTell AfAfhar forRay |
(iii) UG Selagrs R B drell Sfffchar forRay |
Ques. : (24) Show the galvanic cell in which the following reaction takes place.

Cr=-0.74V , Cd = -0.40V
2Crt3Cdat— 2Crihy +3Cd

(i)  Find the E% of cell.

(1)  Write the reaction occuring on the positive electrode.



(111)  Write the reaction occuring on the negative electrode.

3rerar
=1 a1 @1 298 K IR F+ive aHIarvr foarRgu —

Mg | Mg%(;r.om M)H Cu%&oom M) | Cugs)
Cu=0.34 V,Mg=-237V

(i) ¥ BT e.m.f. ST R

(il) gFTcHD Selacle UR BIF drell sffifshar forRay |
(iii) TS Seldgls R B aTell AfAfhar forRey |

Write the Nernst equation of the following cell at 298 K

Mg | Mg%(;r.om w)ll Cu%&oom vy | Cugs)

Cu=0.34V Mg=-237V

(1)  Find the e.m.f of cell

(i1))  Write the reaction occurring on the positive electrode

(i11)  Write the reaction occurring on the negative electrode

ged : (25) a) FreforRad sifafhamatl o qof Sy — (2+3=5)
(i) 2MnO7, + 5S0;> + 6H" —
(i) 2CrO4” +2H' —

b) =1 &1 BRoT forllay

() RNfe @ FhA0 d@ T8l 994 2 |

(ii) %‘ﬂqsﬁ @ GRATITIRIGROT P Teoied] 3= Il 2 |
) Cr'" & gergere famar forkay |

Ques. : (25) a) Complete the following equations -
(i) 2MnO7+ 5S0;" + 6H" -
(i) 2CrO, +2H >

b) Write the reason for the following

(i) Zn is not considered a transition element.



(11) The enthalpies of atomization of the transition metals are high.
c) Write the electronic configuration of Cr’
AT
a) P rfifparal &1 ol ARy —
(i) 2MnO7,+5NO, +6H -
(i) CrO;” +14H" + 6¢" -
b)) @1 HROT faRay —

(i) Hg & dae-is &9 81T & |
(ii) HHHUT T ITH SRS B B B o |
¢) Co*" &1 st ey fmma fafay —
a) Complete the following equations -
(i) 2MnO7,+ 5NO, + 6H' -
(i) CrO,” + 14H' + 6¢ -
b) Write the reason for the following

(i)  Mercury has lower boiling point

(1)  Transition elements act as excellent catalysts

¢) Write the electronic configuration of Co”
ged : (26) a) F=foRaa difrel &1 FREAG forRay — (2+3=5)
(i) 4 FART T 2 BAA
(11) &< 2 g9 1 3
b) f=feRaa srfwforamett & Icel & S BIfvTg —

. Br;/P

1) CH;COOH —

N LiAlH,

(1) CH;CHO ——

Zn—-Hg

(1) CH3- C -CH; ——
| = HCl
O

Ques. : (26) a) Write structures of following compounds -
(i) 4 Chloro Pentan — 2 - one
(i) But—2-—ene—1-al

c¢) Perdict the products of following reactions



. BT2/P
1) CH;COOH —
N LiAlH,
(1) CH;CHO ——
Zn-Hg
(1) CH3 - C -CH; ——

| Cons HCI
O
AT

a) f=feRaa difrel & IUPAC 79 fofRag —
(i) CH3 — C —-CH, — CH, ~CH, ~CH, —~CHj

I
0

(i)  CH=CH - CHO

g

b) fr=faRad aRads & & ?
(i) v | 3 ESgiadl e

(il) ISIg® 3T A m ATSgIeNTd Uehiga
a) Write [IUPAC name of the following compounds
(i) CH3 - C—CH, - CH, -CH, -CH, —CH;

I

O

(i1) CH =CH - CHO

0

b) How to make the following conversion
(1) Ethanol to 3 —hydroxy butanal

(i1) Propanone to propene

(ii1) Benzoic acid to m — nitro benzyl alcohal

0000
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Subject — Chemistry

|qHY — 3 guc quries — 70
Time — 3 hours M.M. - 70

ffaer (1) 91 g e 2

Instructions : (1) All Questions are compulsory.

YR -

YR :

(2) U . 1 ¥ 5 Th ANTAYSIIT U & | Uhb UR 1 3 3f&fcd & | U Bl
JTR 1 e Jfral 1 g H SITY |

(2) Question No. (1) to (5) are very short answer type questions. Each question
carries 1 mark. Answer should be given word or 1 sentence.

(3) U2 . 6 W 10 db UAP WX 2 3 afed 21 (I AT 30 )

(3) Question No. (6) to (10) carry 2 marks each. (word limit 30 words)

(4) U9 & 11 W 22 O TP Y WX 3 3 IMEfed & | (g AT 50 )
(4) Question No. (11) to (22) carry 3marks each. (word limit 50 words)

(5) e % 23 W 4 3 3Efed B (Isq AT 70 IR)

(5) Question No. 23 carries 4 marks. (word limit 70 words)

(6) e P 24 W 26 TP YD U WR 5 3 AMefed 21 (I HH1 100 <)
(6) Question No. 24 to 26 carry 5 marks each. (word limit 100 words)

(1) As,S; A & whad § 9 § | 319 31frd gt © | (1)
Ques. : (1) Which of the following is most effective in coagulation of As,S; sol ?
(2) faa g AdiffTe @1 IUPAC A forRay | (1)
CH;

COOH



Ques

Ques. :

Ques. :

Ques. :

Ques. :

(2) Write the IUPAC name of the given compound.

CH;

COOH

(3) FPr=AforRead @1 SFelIIaT @ 9o 8¢ A H dReId I | (1)
CH;COOH , HCOOH , CICH,COOH , CF;COOH
(3) Arrange the following in increasing order of acidic character.

CH;COOH , HCOOH , CICH,COOH , CF;COOH

(4) SN* fuferar gRT Ufedhel Bllge & SUANT &_d §U ATgdall fdRTd Nt
BT HLATOT 2V | (1)
(4) Show how will you synthesize cyclo hexylmethanol using an alkyl halide by

an SN? reaction.

(5) #IE & WSI W YK TG B BT © , I8 4RI (5 e & &+ 9 gl
2| (1)
(5) Mohan has bleading gums deficiency of which vitamin causes this disease.
(6) YARTENE BRI & foIy Arvsr ATRIC® 3R (2) B AHT & ATAR 68% TSI

3Tl BT STelig faeras g9 § Ui foar | afe faee &1 o9« 1.504 gmL™' 2

ar 3l @ §9 A @I Alelkdl o7 8Rf ? 2)
(6) Concentrated nitric acid used in laboratory work is 68% nitric acid by mass in
aqueous solution . What should be the molarity of such a sample of the acid if

the density of solution is 1.504 gmL™" ?



YR :

Ques. :

Ques. :

(7) AEfS AR R—>P @ fov A= ar=dreil m[R] 91 99T & #e9 I1%

R & guriar T § — (2)

12 1K]

+ (=) —
(i) rfafepar & Pife STd PR
(i) asp BT ST FT B |
(7) For a Chemical reaction R—P the variation in the concentration , In [R] vs

time (s) plot is given as shown in figure.

1

T
21K

+ <) —>
(i) Predict the order of reaction.
(ii) what is the slop of the curve ?
(8) ®roT AT — ()
(i) BRI @ T H§ MIaT 31ferds & 2|
(ii) Y€ TaAroml @ gorT H iR atio 31fde fharfia g 2 |

(8) Give reason -

(i) Ammonia is more basic than phosphine.

(ii) Inter halogens are more reactive than pure halogens.

(o) f=farRaa fafshar & A IR B &1 GRaAT qargd | (2)

KCN  LiAlH,
CH;CH,Br — A—>5B




Ques

Ques. :

Ques. :

Ques. :

Ques. :

Ques. :

: (9) Give the structures of A and B in the following reactions :

KCN  LiAlH,
CH;CH,Br — A—>5B

(10) BpH SHHIZS STfHfhar &I forRav | 2)

(10) Write a note on Hoffmann’s bromamide reaction.

(11) I=¥ee & | AR | eyl FaeR <o+ aredl fdeaq & fou smawas
aRRerferlt faRag | ()
(11) State Raoult’s law write the conditions necessary for a solution to show
ideal behavior.

(12) worg dife & f¥fhar & forw 97 Reries 80s' 1 fAfhar &I aro
YRS Aigdl & 1,/18 df 91T I8 o1 H fhadr IAg o* e ? (3)

(12) The rate constant for a first order reaction is 80s” How much time will it
take to reduce the initial concentration of the reactant to its 1/18™ value ?

(13) fam=ferRaa aRRerfaat & @ deor g ? (3)

(i) ST9 Uebrer fhRoT YT diciigel Aid § H THT IR & |

(ii) STerafora wRe sffaarge Afa § NaCl dg[d smqeed fAamar S € |

(iii) PSS Ael # A AT aRT yarRd &1 S 2 |

(13) What do you observed on the following cordition.
(i) When a beam of light is passed through a colloidal sol.
(ii) an electrolyte NaCl is added to hydrated ferric oxide sol.
(iii) electric current is passed through a collided sol ?
(14) TIwPI W oI & Py § 71 3§ Ud @l YAdT B F93msy | (3)
(i) e & =By § CO
(ii) RieaR & fr=pyor 9 Zn
(iii) PR & frepyor § faferdr
(14) Explain the role of each of the following in the extraction of metals from
their ores : -
(i) CO in the extraction of nickel

(ii) Zinc in the extraction of silver
(iii) silica in the extraction of copper.



g3 - (15) HfaRad @1 EREEY 98T — (3)

(i) XeF, (ii) H,S,04 (iii) CIF;
Ques. : (15) Draw the structures of the following -
(i) XeF, (ii) H,S,04 (iii) CIF;
geq : (16) YD hHI Udb &RVl od Y (ATTRET H U HedAred 1] Bl AT
B e fademT AR | (3)
(i) St gomfert
(i) fiver Mg+

(i) fazeryomeAs ARH
Ques. : (16) Discuss briefly giving example in each case the role of coordination
compounds in :
(i) Biological systems
(ii) Medicinal Chemistry

(iii) Analytical chemistry

ge ¢ (17) o srfafhar @1 o @i | 5)
(i) (CHs); CBr+KOH ™,
(ii) C¢HsONa+C,HsCl—>
(iii) CH;CH,CH = CH, + HBr ——
Ques. : (17) complete the following reaction
(i) (CHs); CBr + KOH ¢t
(ii) C¢HsONa+C,H;Cl —>

(iii) CH,CH,CH = CH, + HBr Peroxide
e+ (16) Pt sl ¥ e s @ T e - 0

(i) ITrfAe Vedieel &I draifddierd 3T § JAfafidxor
(i) BT BT 2,4,6 SISEAI BIFT H SHMA |
(iii) &I —2 — T q FA— 23t |



Ques. :

Ques. :

Ques. :

(18) Name the reagents used in the following reactions -

(i) oxidation of primary alcohol to carboxylic acid

(ii) Bromination of phenol to 2, 4 , 6 tri bromophenol

(iii) Butan — 2 — one to butan —2 - ol
(19) faeell WRBHR o Uicll| o7 & YINT R Ylady 1| ghiar] o oid
FiTpd BITSll & &9 a7 &1 YA U4 a1, Siafd §8 BIC ghar uiforeil|
T BT YANT DR R Sl b udiel g B o |
(i) &9 difered @1 yfddferd @i o1 =1ty ? g Afdd difeed @ a9 o
Prefied 7 &1 STINT aRa €1 3 e et @1 el akd
(ii) dffereli| 7 gder 3R RN T 9 Sd & | S96T YaeT 9 HA B |
(iii) o™ &1 Thold Fa1 2| FA7 U8 AA 98D IT W8 95D ¢ | (3)
(19) Government banned use of polythen bags in delhi. Shop keepers have started
using bags made up of biodegradable paper. but some small shopkeeper are still
using polythens bags but these are thinner and colourless.
(i) Why should we ban polythene ? what values are possessed by people not

using polythene and use biodegradable materials for bags ?
(ii) Why are polythens bags made thinner and colourless ? How can we manage
them ?

(iii) What is/are monomer(s) polyethen ? is it homo or co — polymer ?
(20) RT H AABIT ANT AATIGR HIoF TG A &I AN HRd & | s e

@I JRAT BT B | 3P Bl DA TR H Tl Ud &8 Id bRl |
3% DI BT BT Ul §RT IaTAIFIDd [haAT ST & |

(i) AfSTH BTeeIoT Pe-e 0T Ul 3 e} & al 7

(i) AITSTA BTERIOT PBIAFC B AT H dlfcads sTegraags R AeEH IuYad
2| |7 I8 AP el & SUAR & foly Suanfy 87

(iii) STp WS Bl o dTel AR T HeAT Bl UaRId B o2 (3)

(20) In India large number of people take spicy food and chat etc. Which contain

a lot of acid. Excess of acid in the stomach causes invitation and pain. Antacids

are commonly used for neutvalization of excess of acides.



(i) Why is sodium hydrogen carbonate not good antacid.

(ii) Why are metal hydroxides better than sodium hydrogen carbonate ? Do these
treet the cause of hyperacidity ?

(iii) What are the values possessed by people not taking junk food ?

(21) F=faRad & BIEPRA &1 SITRITHROT 3Ta=eAT RAT BT | (3)

(i) H;PO; (ii) CasP, (iii) NazPOy

Ques. : (21) What are the oxidation state of phosphorus in the following.

YR :

(l) H3PO3 (11) Ca3P2 (111) Na3PO4
(22) ~faeraTATgS T YfFACIgS H 9T AR BT ¥ | (3)

Ques. : (22) What is the difference between a nucleoside and a nucleotide ?

(23) fU TQ Froqel fehvee T URleTor B T — @)
A" B A B
A+
B B ! At J
A" B A" B
B A" B A"
ffaRaa yeat & SR e —

(i) fhea @ gRT fhd UPR &1 AMAIHROT QY ST & |

iii) fbd UBR &1 MIFd Uerf 39 Q¥ Bl SR |

(il) 39 T & gRT fohvedd BT &+ H gaTfad BT ?
Gi

(iv) 39 QY Bl U dTel fhed BT Udh IQTexvl Iy |



Ques. : (23) Examine the given defective crystal

A" B A B
A+

B B | A" "

At B A" B

B A" B A"

Answer the following questions
(i) What type of stoichiometric defect is shown by the crystal ?
(ii) How 1s the density of the crystal affected by this defect ?
(iii) What type of 1onic substance show such defect ?

(iv) Give one example of crystal showing this defect ?

Gl
QT U YUl foheee BT uRlero) By —
A" B A" B A"
B A" B A" B




FforRed gedl & SR dIfoiy —

(i) foved @ gRT T UBR &1 IAHAIDHIOT Y ST & |

(i) 39 9 & gRT bl &1 ¥cd H YHTIAd BT |

(iii) f5a 9 BT 5 UHR &1 MAMS g 9 S DI IR |

(iv) 39 Q¥ Bl U dTel fhed BT Udh IQTexvl Iy |

Examine the given defective crystal

A" B A" B A"
B A" B A" B
A" B A" A"

Answer the following questions

(i) What type of stoichiometric defect is shown by the crystal ?
(ii) How is the density of the crystal affected by this defect ?
(iii) What type of ionic substance show such defect ?

(iv) Give one example of crystal showing this defect ?

(24) T arfafohar &1 gof AT — (5)

ﬁ)_b

(1)C¢HsCHO + CH;CH,CHO NaOH

(i)NaBHA4
(ii))H+

ain o on T%
(iv) (=0H 2 () co

(i) CH3COCH:COOC:Hs



(1)03 2 o)
M @znimyo <}

Ques. : (24) Complete the following reaction

(1) C6H5CHO + CH3CH2CHO NaOH

(i)NaBH4
—_—
(ii))H+

iy o~ o %,
i (o=om L () cHo

,_ W05, (=0

(i) CH3COCH2COOC2H5

(v)
31erdT
= srffehar &7 dHssy —

(1) oFgTS A
(ii) DfrorRT arfdfshar
(iii) g1 dorre Sifegan (HVZ) ifafdan

(iv) FeIHa=T ==
(v) a1 rfferar
Explain the following reactions
(iv) Resenmund reduction
(v)  Cannizzaro’s reaction
(vi) Hell-volhard—Zelinsky reaction
(vii) Clemmensen Reduction
(viil) Parkin reaction
ged : (25) a) 791 @I garsy (5)
(i) wmwor ar Mfde den § Haa Afte a9 2
(ii) Hpaor g1 & 1 sifearge &RIg Bl § Sdid Sod Jifadigs SHILH! AT
37Feld B € |




(iii) Cr’" | " @ Qo H Mo’ | Mn®" gW & forw B &1 99 ST gD
(+1.57V) 2|

b) WIS U9 UfdeArss H Udh AT dT Uk NHAT folfRau |
Ques. : (25) a) Account for the following

(1)Transition metals form large number of complex compounds.
(11) The lowest oxide of transition metal is basic where as the highest oxides is
amphotric or acidic.
(iii) E° value for the Mn’" | Mn*" couple is highly positive (+1.57V) as
compave to Cr’" | Cr**
b) Write one similarity and one difference between the chemistry of lanthanoid and
actinoid element
AT

d) (i) P it acdl &1 ol | HHAY  Tedi ol uiRad! ATaRATDRT faRel b UdhR
=1 BIefl 21
(i) Cu” 3R Cu®" ol ¥ B9 A1 oA Sied Rt # sReml & oiR @i ?
(iii) Cr,O;” o &1 IR T &R & 1er G5 R W) drat <07 & gRafda
BT 8 T |
e) ifafshamett &1 gof @iy —
(i) Cr,O~ +Sn*" +H —

(ii) MnO, +Fe*" +H" -

(a) (1) How is the variability in oxidation state of transition metals
different from that of the P-block elements ?

(ii) Out of Cu* and Cu*" which on is unstable in aqueous solution
and why.
(iii) Orange colour of Cr,O;” on changes to yellow when treated
with an alkali why ?

(b) Complete the reaction
(i) Cr,0;" + Sn*" +H" >

(ii) MnO4 + Fe*" + H >



g9 : (26) a) Ni (NO3), & U fdciad &1 @ifeTq gelagrs & dra 50 VPR &
YRT YdIfed &_d 8U 30 fAe @ fIgfd omeed fhar am| ar das W

Afher @ o= 73 51 81T ? (5)
(Ni T 9RATY] YR =58.9U )

b) F=faRaa 4 faegfa afveed & IUTe S DIy —

(i) RreaR sotagrs @ A1y AgNO;3 &1 el fafera T |

(i) wife™ seragre & e Hy,SO, &1 Sietra fafera T |

Ques. : (26) a) A solution of Ni (NOs), is electrolysed between platinum
electrodes using a current of 5.0 amperes for 30 minuts. What mass of
Ni is deposited at the cathode ? (at wt of N1 = 58.9U)
b) Predict the products of electrolysis in each of the following
(iii) An aqulous solution of AgNQOj; with siliver electrodes.
(iv)A dilute solution of H,SO,4 with platinum electrodes.
AT

a) 25°C W frafRad Aal @7 emf ST S |
Fe | Fe** (0.001m) || H+ (0.01m) | Hy (1 bar)
E’ (Fe*'|Fe ) =-0.44V
E° (H'|H, ) =-0.00V
b) frefaRad e & forg foea= smaer @ AT Savgd Bl |
() A" & 1 @t & Al ?
(i) 1 A MnO, & Mn®*
c) Calculate emf of the following cell at 25°C
Fe | Fe*" (0.001m) || H+ (0.01m) | Hy (1 bar)
E’ (Fe*'|Fe ) =-0.44V
E° (HH, ) =-0.00V

d) How much charge is required for the following reductions ?
(iv) 1 mol of A’ to Al ?
(v) 1 mol of MnOy,” to Mn** ?

0000



